On April 15, 1912, the Titanic struck an iceberg and rapidly sank with only 710 f)f her 2,204
passengers and crew surviving. Below is some data on the outcome on this tragic event.

Surviva ‘ Did not A TN .
Total i :

Tt ciaee 123 324
passengers . ;

Secend class

. . 118 166 284
passengers.
'_l__'hl!"d class 181 528 709 /
passengers . _ :
Total passengers 500 817 1317
i — .

Calculate the following probabilities. Leave your answer as a decimal (not a fraction or a percent), rounded to
three decimal places. S
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A. If one of the passengers is randomly selected, what is the probability that this passenger was in first class?
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B. If one of the passengers is randomly selected, what is the probability that this passenger survived?
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C. Ifone of the passengers is randomly selected, what is the probability that this passenger was in first class
Qnd survived? ) _ : 2“ j —
— ' . P ‘.
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D. If cne of the passengers is randomly selected from the first class passengers, what is the probability that

this passenger sur\j_i_'\;hé_d___z (That is, what is the probability that the passenger survived, given that this

passenger was in ﬁrst}:/lass?)
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‘E. If one of the passengers who survived is randomly selected, what is the probability that this passenger
was in first class? ' [\jﬁf—— :
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FIf onggf_i_:@a_gasseng&ﬁ%hg_sgmh&d i ed, what is the probability that this passenger was

in third class?
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